H & 0l & AHS B Ml A

= H¥= A 0 JIEHIA
M AEO J|E - XE
i HVARSB= g R 1 (Gt H2)
AT SN FE . B(BH) - HSAY - B ofl vy aET HD=2
d=-FA-85%-8 o 8= = ofl &b s2
&= 249,351,568 200,530,636 48,820,932
= 463,569
= 1,577,000
S 70,000
= 3,808,627
Al 243,432,372
D=0l &t 74,524,889 24,461,435 50,063,454
£ 70,000
= 18,802
Al 74,436,087
AMEe D& - XX 796,334 509,929 286,405
S 70,000
& 18,802
Al 707,532
Al & HaHake| 301,600 273,310 28,290
ATAIR & AEAIS 2t 287,140 254,990 32,150
201 LBr2Ab| 168, 140 135,990 32,150
01 AFR22teltl 148,140 115,990 32,150
28t2ZH| 119,500
SYNPSE—3] 20,000,000 & = 1A 20,000
o025 AMAESE X oI
20,0003 *5005 10,000
ogtl= LSME I ol
50,0002 x2005 10,000
o025 FTLAURHE ZHI} OIM
50,0002 x40052 20,000
O AISR2EAF EA OIA
40,000& *3005 12,000
oO|3|HRE D M} CIM
70,0002 1508 10,500
oAl AIBEIM I
15,000,000 * 14! 15,000
ocHRENE I H&
3,000,000& =14 3,000
oNEEES 2 HE
7,000,000& * 1A 7,000
oADE JU(EH 5)
1,000,000& x 128 12,000
o324l 8,640
SYNE-kes) s ZAH|
9,000 *10H~8 » 128 8,640
OHHBHE 20,000,000& 14! 20,000
03 eAIEH 20,000 20,000
(@INESE=ES] 2 MIOILIHE
20,000,000 & * 1A 20,000




A= sy SA J1=0 A
3 NEe D" - 2
i HVARSB= g R 1 (Gt H2)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
207 K] 19,000 19,000
01 2=l 19,000 19,000
OXlsgd o :oe
19,000,000 * 14| 19,000
306 = 100,000 100,000
01 2¢i= 100,000 100,000
OYEATE EQ=
100,000,000 14 100,000
AE & Z2ALIAY 2E 12,000 12,000
202 0| 6,000 6,000
01 2oL 6,000 6,000
OJI8g: ol 20,0002 6502 6,000
208 gF =4l 6,000 6,000
03 A=A H R4 6,000 6,000
OsaE & 32|
6,000,000 14} 6,000
N&ENsEE g2 =4 2,460 6,320 3,860
201 Ler= Y| 2,460 6,320 3,860
01 Ab2teltl 2,460 6,320 13,860
OXHIs2d |- &2l
70,0002 1423 1,960
OXEIs2d yolta M
250,000 %22 500
gt 2| 316,700 57,800 258,900
s 70,000
Al 246,700
FRHUS Bt 293,700 34,800 258,900
s 70,000
Al 223,700
201 £er2aY| 20,700 29,800 29,100
01 Ak 2teltl 20,700 29,800 29,100
O8Itz M= & ol
30,000 %150 4,500
OgiHe1dsl sloj=g
70,0002 +10 62 4,200
OX=dd g2 2,000,000 14 2,000
OX=dd =4 S22 H30l - L8012l
T 10,000,000 14} 10,000
207 AN ] 260,000 0 260,000
S 70,000
Al 190,000
02 MADHEH] 260,000 0 260,000
Osgdtae 2SALE 2=
260,000,000 14} 260,000

70,000




A= dEg A 0 J1= A
M AFQ D1 - =F
S goF 22l (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
Al 190,000
303 Za= 13,000 5,000 8,000
01 Z&3 13,000 5,000 8,000
OA3 R8I =24 L AI¥ ZH
7,000,000 14! 7,000
OXHIUY 24Z2V T4
3,000,000 *23] 6,000
EgaAy d= 13,000 13,000 0
308 KXIHMSOIH 13,000 0 13,000
13 BI |2 SOICHEH B A X LE AL 13,000 0 13,000
Osoig 2der HEXY EE
13,000,000 & 14 13,000
MM E =29 6,000 6,000 0
301 LENZ 3,000 3,000
14 JIEt2 43 3,000 3,000
OAlgl HIet 3,000,000 14 3,000
303 ZAa= 3,000 3,000
01 Z&3 3,000 3,000
Os2& Het 3,000,000 *14 3,000
“otze| 22| 4,000 4,000
202 Ot 4,000 4,000
01 =04 | 4,000 4,000
Ogor2teled e ol
20,0003 *4H+502] 4,000
S8 SHZel 178,034 178,819 AT85
& 18,802
Al 159,232
SH2e 107,855 109,506 21,651
101 eI t| 32,258 27,798 4,460
M IIZtHI22 S e 32,258 27,798 4,460
OAMSRMZAL C124H| 25,928
o T A2l AL 83,2802 * 10 28 x70% 16,323
cdARA 80,240 9«19 x70% 9,605
OonsE!sg3 25,928,000&*11.3% 2,930
OZHAH| 5,000 198 +20 1,900
OZARE A&
10,0002+ 10 15 1,500
201 L2 FH| 75,597 74,708 889
01 ArR22ltl 75,597 74,708 889
OgBt=2H| 74,877
SAEMZAL SSEAIE 29|
80, 2403 44 +262 7 0% 64,257
S AEMZEAL ESS AR WEH|
6,000 *44ZF +252 *70% 4,620




A2 SA JI=0 A
NERISIERES:
52X s)z2 M)
SA - BB GR(3) - HRAY - BES A 2
CEEEA0 R 70,0002 %4074 2,800
CEHEA B 2B 7
600,000& x23] 1,200
CSNABA ARSE P U UK
2,000,000 14 2,000
OXAMNRE ZAH| 9,000&*16H x5 720
2ESHAHE HME 6,500 6,250 250
201 L2 | 6,500 6,250 250
01 Ar2eltl 6,500 6,250 250
Oget===H| 6,500
oZHAE M 52,0003 x 1255 6,500
Hzel 2g3| 1,000 2,000 A1,000
202 04d| 1,000 2,000 A1,000
01 =UOdLI 1,000 2,000 21,000
OsiHlZel 2424 1,000
oSHYS bl 20,0003 x2H *253] 1,000
SAARI ZA 62,679 61,063 1,616
& 18,802
Al 43,877
101 @l24H| 13,746 13,658 88
& 4,123
Al 9,623
M II2tH22HSE* 13,746 13,658 88
OZM2IX o121t
83,2803 x4 +23 7,662
= 2,29
Al 5,363
OYELIR Q12|
80,2402 +6H+ 10! 4,815
& 1,444
Al 3,371
osZ2x23 1,269
c4UEEZ2(8Y) 10,871,3602%11.252% 1,224
& 367
Al 857
olE, MUBEZ(2
1,604,800& *2.753% 45
= 13
Al 32
201 B2 AL| 30,270 28,649 1,621
= 9,080
Al 21,190
01 ArR2eltl 30,270 28,332 1,938




A= HFR A D120 A
M AFHS JE - XF
ol 288 SAH2 EER=E)
AR RA - F - O(BIH) - NRAY - BES 0l Ao A timE=FT
OES XA 83|
80,2403 x 1621 26,961
< 8,088
Al 18,873
OS2+ M= 70,0003 %N 2 630
< 189
Al 441
OxABE 7 205,000 14! 205
< 61
Al 144
OetdEs 7Y 25,0002 x26 650
< 195
Al 455
OZAMEE WEHI 6,000 162 19! 1,824
[ 547
Al 1,277
202 Ot 163 256 293
< 49
Al 114
01 =LioiL 163 256 A93
OO0t 163,000 14! 163
< 49
Al 114
301 LEIEE S 10,500 10,500 0
[ 3,150
Al 7,350
14 JIEt2d= 10,500 10,500 0
OAR2I AL €S 7
10,0002 *1,0502 10,500
< 3,150
Al 7,350
308 XXM SOIA 8,000 8,000 0
< 2,400
Al 5,600
13 S [2SOHe & EAS A 8,000 8,000 0
OZu=2A & 21N g2t
8,000,000& *14] 8,000
[ 2,400
Al 5,600
AHHE =2 7,321,685 6,581,031 740,654
S8 ME=2Y 7,321,685 6,581,031 740,654
IAEE On2E 870,000 620,000 250,000
201 2Bl 320,000 220,000 100,000




A SN A 0 J1= A
M HAEWE2Y
el 288 HE=2Y (SH9 H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
01 ArR2eltl 200,000 100,000 100,000
OJ|2HEBS2E AtR2teid]
200,000,000 * 14 200,000
02 Z324l 20,000 20,000 0
OJ|2=ss2% 2322l
20,000,000 14 20,000
03 A2 G| 100,000 100,000 0
OJ|2BS2E A2 ZHI
100,000,000 * 14 100,000
202 Ot 120,000 20,000 100,000
01 =L 20,000 20,000 0
OJ|2ES2E g2F8 ol
20,000,000 & *14! 20,000
04 =M= 100,000 0 100,000
OJI2==s22% 2 Hsod]
100,000,000& * 14! 100,000
207 HA=1IHE] 50,000 50,000
01 ¢ EGH| 50,000 50,000
OJ|2ES2E A1=9|
50,000,000 14! 50,000
301 LEtBEF 10,000 10,000
11 HARHIKIE S 10,000 10,000
OIS 2Y PAAHIEA
10,000,000 14 10,000
401 Al&HIZ 20| 350,000 300,000 50,000
01 Al&HI 350,000 300,000 50,000
OJ12#BS2E A&l
350,000,000 x 14! 350,000
405 XHAHE SHI 20,000 20,000
01 AL = SF = 20,000 20,000
OJ12ES2YE RHtF S|
20,000,000& * 14! 20,000
ME=2 341,385 424,871 A\83,486
201 2| 127,650 160,220 A32,570
01 ArR2eltl 127,650 160,220 A32,570
OgBt=2H| 115,750
oUAHEHY JIEXIE I}
20,000 3005 6,000
oG E0AA Q1A 85,0003 x400% 34,000
oF=Z0UAHA QI
40,0002 *3005+33] 36,000
oZI|NLME A= X} ol
15,0002 2505 3,750
oIH|AIE =AY HI}F Q4
10,0002 x150% 1,500




A= A= 2A  J1= 0l &kt
M HAEWE2Y
el 288 HE=2Y (SH9 H2)
AR .2 . HEH. CI-_‘,’_|(§D1|) - HIEAIY - HH2 0 AFoH SEE Hn=2
SNISFALEEM QA
45,0003 1002 *43] 18,000
odIAHEIA QI 50,0003 1505 7,500
ol ME M Q1A 50,0003 *150% 7,500
o HIXIGAA 144
10,0002 1508 1,500
Oo2g=¢ 11,900
oMMEAHE YRR oY
70,0002 *12¥ %102 8,400
ocZYUH Ao Mol
70,0003 *8H 43 2,240
oEXNESHI AN AT Mol
70,0002 »9H 23] 1,260
207 A OHEH| 35,000 22,000 13,000
01 A= 9H| 35,000 22,000 13,000
Os=Ea0| 2 3G EIt
35,000,000& 13l 35,000
308 AXIHMSO0I& 129,113 141,422 A12,309
13 S| 2 S0 E &R E AL 129,113 141,422 212,309
OSEXNYMHEAAE 28 - KX
129, 113,000 * 14 129,113
403 MXISHHMSKHE0IA 49,622 101,229 251,607
02 I 2SOHEA=2E I EAIZ I 49,622 101,229 A51,607
OSSXNLTHEAAE THH=TAAE 25
49,622,0003 14! 49,622
FUEAHU AR 2 63,300 43,360 19,940
201 2| 49,300 36,360 12,940
01 ArR2eltl 43,300 31,360 11,940
OFUHNHARAAS Ao+
70,0003 *60H +62] 25,200
O=IZF UL XIHa|ol Ao=E
20,0002 10 33| +21H 12,600
O=2&EH 22 I & 1 5,500
celES MEH 1,000& *2,5000H 2,500
oItESA MZE 500,000& *23! 1,000
ocEsE=EE 7Y 2,000,000 14 2,000
03 @At2EH] 6,000 5,000 1,000
OFCEH AR WE & IS
3,000,000& *23| 6,000
301 LB NZ 7,000 7,000 0
11 HALAHIXIEZ 6,000 7,000 A 1,000
QW& Ast 100,000& 60+ 13l 6,000
14 JIEt2 43 1,000 0 1,000
O HMCetAtY &
1,000,000 14! 1,000




A= HFR A D120 A
M HAWE2S
el 288 HE=2Y (SH9 H2)
A 2A - FH . G(BH) - NRAY - BES 0 &y A HIRS
308 XXM SOIH 7,000 7,000
18 SIS0t 4 A AS A 7,000 7,000
O=2FHU& XHZ D
3,500,000 23 7,000
S8 HI2SAYE 283 14,800 14,800 0
202 04l 8,800 8,800
01 =LH0d 8,800 8.800
Olatd e gs&Y Ol
100,000 «8&*113] 8,800
203 HR=&H] 6,000 6,000
03 A=A R =] 6,000 6,000
OM&E=2g AIM=a 6,000,000 14! 6,000
LSS ZNLSAL X 5,987,200 5,378,000 609,200
309 HES 5,987,200 5,378,000 609,200
01 SAL- SHBYHES 5,987,200 5,378,000 609,200
OZE2ZNLSA 248l
4,987,200,000& x14] 4,987,200
ORI &3
1,000,000, 000& » 14! 1,000,000
NLEXS 222 45,000 0 45,000
201 er23 | 45,000 45,000
01 At2teltl 45,000 45,000
OXgExs2elfds yo=g
70,0002 * 12 x153] 12,600
OLEA NgEEZ 2HIIE M=
18,0002 %2105 3,780
OXLEXS WS 144
10,0002 x400+33] 12,000
OXNgExZz WE A
810,000 x12 23] 1,620
OXgeExs 2| ASSA|
10,0002 +1,500H 15,000
WEWE L UK=EX 2 5,575,860 5,242,749 333, 111
MESNE-! 5,575,860 5,242,749 333, 111
st WA X At 5,525,860 5,192,749 333,111
201 er23| 7,960 4,960 3,000
01 AtR2t2l] 7,960 4,960 3,000
Ou=ZH Ex3 2f2s =&
70,0003 +7H+43] 1,960
OunsZH Ex3 &Itz M
3,000,000 %14 3,000
OusgdEL 2As A
3,000,000 *14] 3,000
202 Ot 6,000 6,000
01 =LH0d 6,000 6,000




A2 SA JI=0 A
DENE 2 IS=T 2
e (el @)
T RA - BB O9(E0) - HRAY - BAS of v e HIDE2
O=E8 usE="sdd 233
20,0002 *32 %1002 6,000
308 AHXIEMSOIE 5,511,900 5,181,789 330,111
08 WEI|20etEx 5,205,000 4,860,000 345,000
Ost WsZHl X2
5,205,000,000& *14] 5,205,000
VA -2 -7 USHSEIH BEHES 306,900 321,789 14,889
O2258 D1 PARS FH| 2EE
306,900,000 * 14 306,900
U 30,000 30,000 0
308 AXIHSOIA 30,000 30,000
18 SIS0t HAS A 30,000 30,000
OLSA=HED BSHAUDSS X2
30,000,000 x14] 30,000
JEUL2 W=7 ALY 20,000 20,000 0
308 AFAIEHMSOIE 20,000 20,000
08 w=J |20 2 X 20,000 20,000
OZEetuU2usN+ 248 N
20,000,000 *14{ 20,000
OlchXIEtd NsHs J|gt &5 1,227,924 1,294,424 266,500
MES S INE= = 1,227,924 1,294,424 66,500
ANGEE g A 280,000 80,000 200,000
308 AtXIEHMSOIE 280,000 80,000 200,000
09 XIS tisoll CHet BaEx 280,000 80,000 200,000
OXSed st
20,000,000 *4JH CHS*100% 80,000
OZF1 ¢ nEZ2Y 2H(1S)
200,000, 000& *100% 200,000
(M) ZSA0IHAHSETHE X 500,000 500,000
306 E= 500,000 500,000
01 9= 500,000 500,000
OZSA0IHATHE M EHS
500,000,000 *14] 500,000
s BHS XIAA(LIFE 2.0 ALR) 50,000 100,000 /50,000
308 AFAIEHMSOIH 50,000 100,000 /50,000
09 XItHstoll thst BaEx 50,000 100,000 250,000
Odolstisht stsdds N
50,000,000 *100% 50,000
gt 2UsE gsig N3 10,424 10,424
308 AXIHMSOIA 10,424 10,424
18 SIS0t HAS A 10,424 10,424
OgsidEUsa 38t NS
10,424,000& 1 10,424
SIU=EAIE #4835t X3 100,000 100,000 0




AR RA BB O(SH) - MSAY - BAS 0 &y e HIRS2
403 REXIHMS K201 100,000 100,000
04 XIS THSOfl CHEH RH=2x 100,000 100,000
YSAFH SD=AIL A K
100,000, 000& * 14! 100,000
2ZZ U300 XI& 287,500 0 287,500
308 AXIHHSOIA 287,500 287,500
07 XX SX2t22 287,500 287,500
O22Z &30 X3
287,500,000 * 1A 287,500
WA 2AZHI(DIZ 0l At 48,806 35,521 13,285
|23yl 48,806 35,521 13,285
J|l23d| 48,806 35,521 13,285
201 Let2AH| 38,936 25,651 13,285
01 AtR2teld| 38,936 25,651 13,285
Ogdet=2H| 23,060
cMeREz 20,0002 x4 %5+ 122 960
SHHANSEE oYl
300,000 =128 3,600
O ANRD|D| ABE 2|
1,000,000& * 12& 12,000
oAE AT 20,0003 x50 1,000
oARE =4&H| 2,000,000 14 2,000
oJ|EF =2H] 3,500,000 14 3,500
Ozad| 15,876
oJ|l2gRe 24|
9,000 x21H 7 x 123 15,876
202 04t 5,670 5,670
01 ZLHHI 5,670 5,670
OJl2gR=8 odl
90,0002 x21H*33| 5,670
203 R =&IH| 4,200 4,200
M EAN2ILRF=EH| 4,200 4,200
ENSIYERFA 350,000&*12& 4,200
HEES (D120 A 49,500,000 0 49,500,000
WEHHXI= 49,500,000 0 49,500,000
LHEHN XK= 49,500,000 0 49,500,000
704 GIE 2 49,500,000 0 49,500,000
01 olIE2 49,500,000 0 49,500,000
OSEMEHHIDIS(SEHE) WES
49,500,000,000& * 1A 49,500,000
(G:]ls]hs] 10,054,280 10,797,781 AT743,501
=1}l 10,054,280 10,797,781 A743,501
olglyl 10,054,280 10,797,781 A\743,501
801 OllEl8l 10,054,280 10,797,781 A\743,501




A= #m=

ol
ol il (e A
Al = = zH o (3] S 2 oH e =2t
A3 - 2A - Y- 0A(3) - AIRAY - B85 Ofl &4 Ol AtoH ] IME=
01 &eHoiiglgl 3,000,000 3,000,000 0
Ogetoidlgl 3,000,000,000& %14 3,000,000
02 THoHl - MHFSH UYL 7,000,000 7,000,000 0
OMoi == odlbl
7,000,000,000& 14} 7,000,000
0B LERES 54,280 797,781 AT743,501
OoUERE=2 54,280,000 *14] 54,280




H & 0l & AHS B Ml A

A= dEg A 0 HEXA
M ARSA #EAE
i H=PSPNEEE (Gt H2)
AR .24 A . AA(SH) - HEAIY - HE=2 Of| AFOH ST Hnz=2
SErTArSRt T == B Ofl r =e
S XI2 1t 59,045,063 53,531,329 5,513,734
= 38,270
= 587,700
Al 58,419,093
ANRISY HEPE 1,574,110 1,337,095 237,015
& 2,700
Al 1,571,410
HPXH =t 1,012,810 760,795 252,015
= 2,700
Al 1,010,110
ARSI HGHE A JHE 82,880 69,480 13,400
201 L2 | 70,670 57,360 13,310
01 At 22|l 14,070 5,760 8,310
OA3 319 & 88 =2 HH
70,0003 23|« 128 1,680
OAE 3o 5 227 (CiH, 2 5)
100,000 *23|* 12 2,400
OUS A 2E =4
9,000& 30 +73l 1,890
O#AL Xt& XISZ2H|
15,0003 +6A| 2H90H 8,100
02 E324H| 13,000 13,000 0
OANEZ82l3 fE3 U7 13,000
o= AEZ=EEE Y RES
10,000,000& * 14! 10,000
SLAUELENXE ANEZTE S| REHZ
3,000,000 14! 3,000
03 A2 EH| 43,600 38,600 5,000
O3 1& JIE&AL 5,000,000 *14] 5,000
OS2 d=4 10,000,000& * 14! 10,000
OAIRA, SRAL AL SAL 4,720
o309 M 240,000 *374 720
=38 Xt 1,000,000 * 14 1,000
oZH 1,000,000 14! 1,000
oChtt & M= 7
2,000,000 14 2,000
OUEHA(RdlZ3l, 8Y35 8) 23,880
o =0 W& 240,000& 123 2,880
o3 Xt 6,000,000 14 6,000
oZHEH|, HA X S
15,000,000 14 15,000
202 04d| 10,500 10,500
01 2LHO LI 10,500 10,500
O=LEH Rl ol
100,000 15 +53] 7,500
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d3= FA O SHIXE D
DIEA #ETH
323 EER-E)
LA B - S9(E) - AISAY - BES of v e HIDE2
SNTZE KB ZAH A
300,000 *5H 1,500
202 04dl 50,000 50,000
04 =Xl=todb] 50,000 50,000
OR+3F& MO &
50,000,000& » 14! 50,000
25212 Jizl & e E2=3E A 30,000 30,000 0
201 2= 30,000 30,000
01 At22telt] 30,000 30,000
Oggt=3H| 30,000
o8lol S LY A E22E AN
30,000,000 * 14 30,000
2ol g I8 A 290,000 104,400 185,600
201 fer= 3| 269,100 83,600 185,500
01 AtR2tc|HI 4,000 4,000 0
Oget=EH| 4,000
oACItHe AARER =&
100,000& %10 1,000
oAl & 2HFL(SHS E JI2EH)
10,0002 *300H 3,000
03 A= 265,100 79,600 185,500
OAl2ItHa &I M=
1,000,000 *1H 1,000
OZE= M 10,600
olgs s 500,000 <8 H 4,000
oAgEsY 70,0002 *407K 2,800
o2 &X&1 502 %40,000% 2,000
oxFY & A=l MH
1,800& *1,000& 1,800
O A2 & AIUS M=
300,000 %10 3,000
OAlgle] & JIg &AL 250,500
oAQIHY =4 S & M
4,000,000 * 14 4,000
oENZE 134,000,000 *14] 134,000
cHHIUIHRU, SE, =8 )
60,000,000 * 14 60,000
oJlEHE Y Al S AN
15,000,000& * 14 15,000
oA S 24|
20,000,000 * 14| 20,000
SIEHA 14,500,000 * 14 14,500
o™AL 28 3,000,000 %14 3,000
301 EtE NS 900 800 100
11 AALRHIXIRS 900 800 100




2 SN SEXADL
=4 #Es
A2t EER-E)
CRA - FB . O(BH) - HRAY - BAS A HimE=T
OAlZIel 2 SAS AR SALI(AR0IES
g) 9,000& *100H 900
308 AXIHMSOIH 20,000 20,000
3 BJ1ZSOIeE A2 &AL 20,000 20,000
OAlgle] & AZ0HXI ZD(L2tX & BiL)
20,000,000 14 20,000
2| AdFALS 11,300 10,940 360
201 23| 11,300 10,940 360
01 ArR222ltl 11,300 10,940 360
Oogpr2gH| 11,300
<RI & AP (SUS
10,0002 *75074 7,500
SEI2I| 471 PYBIR, B=E)
1,500 *1,2000H 1,800
SAE ALU 201 & 7L
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